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SR S e e (i) Calow Jate the NPV of proj iect A, project B
3 TR W | - Q- U W?ﬁ\ and the mcremcnta! investment pmJed
Ay | ® WH‘WW (B-A) for discount rates of 0%, 1 10% and
20%.
A WU IR R
, IR v s 3 o
Mﬁﬁmmwwﬁmml ' (iv) Plot the NPV functions for the three
projects in & discount rate- NPV plane.
‘ tances in which you
SECTION A (wve ) (v) Show that the c1rcumsl an ‘a . y
would accept the project in (if) are also
| W i those in which the IRR on the incremental
. (a) What 4 ard rates? Tnvok : . : .
( ‘ _m i “Id rates? Invoke the comparison investment is less than the opportunttigost
principle to derive the formula for a one-year of capital. EN+)
forward rate. 0)
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(b) Consider the following two mutually exclusive )
| | w3 Y e e |

project A and B =
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Cash Flows (§)
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(i) Find the approximé(e IRR for c2¢0 P :

-100 0 0

y choose

and why?
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(111) 0%, 10% 3k Qo%ﬁ@ﬁ%m
m_B%mvaﬂ?iﬁsﬂa%:A' (1
(B'A) = AT Y
iv) NPV : (i
(iv) F A AT D R o g
NPV waiT ¥ wiie =¥ |
| (1
(v) el R o R aRfefa ¥ wRaren (i) =
FFR @ T of aferdier AT W IRR S
IR AT ¥ FH B
2. (a) Differentiate between Macaulay duratign“and
modified duration. (5)
(b) Consider the four bonds@zing annual® payments
as shown in the tabl@elow:
‘\\Q§ B E_ (EF‘) %
End of year Bond@‘ Bond Bond on
S| B c D
payment A (@) 4
50 0 0 + 1000
Year 1 100 o
0 0
Year 2 100 ;_______52___ _0____.
0+ 1000
Year 3 100+ 1000 | 50 +1000 8
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3. () (i) Distinguish between capital market 110¢ and
| ' 5
security market liné- ()

drilling venture: The price of

§975. It is expected
§1000 after one

(il Consider a1 oil

a share of this venture is
alent 0f

o yield the equival
peertalnty about how

year bul due to high U
quch oil is at the drilling site, the standard

£ the return s 40%.
The expected ate of

lio s 17% and'the
te. 1912%.

deviation 0 Currently the

risk free rate is 10%.
return on the market portfo
standard deviation of this d

he expected fate of /return

Calculate t
Iso

icted by capitel market’ line. A

pred

comment whether it iswefficient t0 invest in

this ventufe. (5)
| fund.

(b) Individual A i§ planning to invest in a mutua
PHis fund invests 10% of its funds at the risk free

ate of 7% and the remaining 90% in a diversified
market portfolio which has an expected rate of
return equal to 15%. The beta of the fund is 0.9,
One share of the mutual fund represents §100 of
asset in the fund. What is the value of the share

based on CAPM?
()
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) () @Wmaﬁwﬁiﬁmm%% sECTIONB(
e : lio with betd
pany has # 20 million porti0 h
: ' AR ¢ on the
Wl S e T v £1.2.1 ould like 10 US€ futures contra®t =
s : rice
, ndex futures P
T TR R A 875 7 1 7, T af g&p 500 (o hedge its T The 1 i
. o at 1080 and each contrac
$1000 & F W IAH T N W 3 is currently standing o it N
T BRI e W R A b tor deivery of §250 times the ind h
&ﬂ;ﬁﬂﬁ'ﬁfﬁ N hedge that minimizes risk? What should the
T
e company do if it wants 0 reduce the beta of the
40% 2 : )
T % U portfolio 10 0.67 (5)
Wm-mﬁaﬁ'ﬁa&man%g .
o 7 o e R 12% § 1 {5 S (5) Explain what is neant by basis tisk when the
I B S e A aiaﬁ TIUFH futures contracts are used for hedgifig. (5)

(@) = - A T e A
%mmﬁm%WMaﬁmﬁﬂm§§

o w gt A 90y H fal
the margin call? 5)

X 77 o foordht X =0 7 v ¥ R (c) Suppose that you entec. inf0 7 short futures
contract to sell JulySilVeg for $17.20 per ounce.

w1 I ¢ |
The size of thelcongraetis 5000 ounces. The initial

P 0 A AT T Q@ margin, i5'$4000; and the maintenance margin is
§3000=3Wht change in the futures price will lead

to d'fflargin call? What happen if you do not meet

mmwfm‘ﬁ”’gﬁ -

e w A 098178 >
M
$100ﬁmmwﬁﬁw?m%'w TR 21 7 W R ww aw R R
mﬂﬁmw@mﬁ. SAPSI0 T S W i we
|
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Suppose that e risk-free interest rate is 10% per

auous compounding and the

(b

annum with the conti
Id on a stock index is 4%
futures price

dividend yie per anoum.
The index 18 standing at 400, and the

for a contract deliverable in 4 months is 403. What

arbitrage opportunitics does this create? (4)

(c) Explain carefully the meaning of the terms

ield and cost of carry. What is the
spot-price;

(%)

convenience Y
relationship between futures price,

convenience yield and cost of carry?

(a)a‘r&mrw“ravg\wsmﬁraﬁm%lmmwm
o v oty 7 AR AR 27 21T AW T
o v 3 f @ @ 10% R W 8,
gwERl 3 R @ g @ B e @ A A

N
O BT B FER R o T de

5. (a) The spot price of silver is $15 per oun%g&le
storage costs are $0.24 per ounce per yable
quarterly in advance. Assumin%
rate is 10% per annum for all the maturities;

calculate the futures price of silversfor delivery
in the arbitrage ppportuniics
eoretice!

(6)

the initerest

in 9 months. Expla

when the price is 1ot equal to the th

price.

T B TR T D

(@) 7 e i e gt @ A Wi -7 oW
T 10% 9 a3 R wiE Rew | A9 R I
49% T 78 3 | T 400 W W ¢, F 4 TN
¥ e sy @ fow Toa a@ 405 21 % f
TR B Fa JaT A 2
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(1) 3 A ot 38 v ) () R g7
ATl 4, T I, G A o A 7 2 4

T T 2 (i Bt S T A A §15,817.57 520 %
T T & W I A3 A
() (i) What is the difference between a strip and 4 iy F A 7 1| I A w8490
stanp! 0) 7505 % 1 awen & i wtww T A
(ii) Call options on a stock are available with for fied 1 9 a4 fon 1 T 2
strike price of $15, $17.5, and $20, and the TEEE R B o 7 A F A AN B

expiration dates in 3 months. Their pri )
$4[,J $2, and $0.5, respectivelr)l:.hz;;i:ic: Sh:; j:m £ R g TR TR

|

the option can be used to create a butterfly

- spread. Construct  table showing how profit
varies with stock price for the butterfly (@) - AR T ' A FS19 € AR $20

G) 3 X5 1@ 3 W RE W3 N 3 Qi B
. , T 0
(b) The price of 2 non-dividend-paying stock is $19 T 3 ST | WA T & 4% 7 2
and the price of a 3.month European call option $20 % RES AT WY § W B R T A
on the stock with the strike price of §20 is 1. Q SN 2 7

The risk free rate is 4% per annum. What 8 ;
it the

f 3 3-month Europeal put 0p %@é
N

spread.

price 0 ()7 e o et e w fomeg $30 3k 35

strike price of $207 @Q S R ik g
ilable _
() Supposethat pu opons 01 0057 N i 3 foy el 1 i 94 fo 1
2

e of $30 and $35 cost

with the strike pric St e 10

i
§7 respectively: How can the OPH

create a bear spread’
P.T.0.
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e e g, (a)Disc
| Mil!er-Modigliani’s proposi

. o 4 :
uss the traditionalist position 1 response 0

tion on debt policy.

(6)

7. (a) Explain with the help of an illustration how

dividends are paid. N
p K (b) The common stock and debt of NS Limited are

(b) Explain, with an example, the Miller and valued at § 50 million and § 30 million, respectively.
[nvestors currently require 2 16% return on the

Modigliani’s proposition of irrelevance of dividend
common stock and an 8% return 00 the debt. If

policy. Clearly outline the underlying assumptions
NS Limited issues an additional § 10 million of

of the proposition. (6)
common stock and uses this money to retire debt,
(c) ‘Debt-equity proportion does not affect the what happens to the expected return on the stock?
currency-risk borne by equity holders but it Assume that the change in capital strueture does
increases the spread of percentage return.” Explain. not affect the risk of the debt and(that there are
(5) 1o taxes. (5)

(W) T JeE & e ¥ e K o I (c) Explain the followirg,:

2 fr w2 !

(i) Law of‘eomservation of value

(@) v e & Y, W aﬁ?#ﬁﬁ@mﬁmﬁﬁfé&

(i) Weighted average cost ,
il W%ﬁﬁmﬁlwmgz) ost of capital ~ (2+2)

2 e i @ st 3O S o 48 e 3 3
Q,QQ& NG~ TR
o) - e 0 50 7 (®)
i i v IR %i‘:hwmmmmm
mmﬁmﬁw%‘”wﬁm' PO R | B 3 o e
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